Ejercicios 6.

1. Resuelve las siguientes ecuaciones:

a) 5x-3_7-x
X xt2

b) X ., X -1
Xxt2 x-2

x+2+x-2_ 40

c) X-2 x+2 x2

x2-7x+ 83

2 -
x2-5x+11 5
7

4

2. Resuelve las siguientes ecuaciones:

i) x+2x*+16 = 4

a) Jx+7:x+l
w
5-J2x+5=2
d)mz
e)JX+_ 3

)2 Vx+4 =J5x+4

9) Jlx+3)0x+ 4) -
h) x= 1+ +/3x*-5

27+ x -

=
N 1

7

1) Vx+3-+/5x-25=

m) Vx+5+/x =1
n) Vx +vx+7:=7

8
Vx+3

Ecuaciones racionales
Ecuaciones irracionales

7-3x  2x
) 5-x  3-x
Lo ox 2 3
) x-1 x+1 x2-1
x+1 R x+5 , 13

x2-5x+6 x’-6x+18 x-2
Xx-a X-b

+
x-b x-a

) =2

1
q) [2x+3=3-(G- 2
r) Vi0+ x - V10- x = 2
$) Vx+9-l1-x:4
t) Vit 4x - V1- 4x = 4x
S) 1- x= y1- 2x+ V4~ 7x°
t) 245+ x + 4/9- 3x = 441- 3x
U) J5+x-+/25-3x = 24/5-x
V) 3x- 6+ /2x+ 6= /9x+ 4
W) \2x+ 14 - Jx- 7= x+5
X) V3x+ 1-Jx+ 4= Jx-4




